Sr

Questions

solve as per the directiongiven above

Solve as per the directiongiven above

Solve as per the directiongiven above

solve as per the directiongiven above

Solve as per the directiongiven above

Answers Choice

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Most of the
members at the meeting felt</span>
B. <span style="color: rgb(0, 0, 0);
font-family: arial;">That the group
appointed for investigating the
case</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Were not
competent to do the job
efficiently</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Will you please
buy</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Some jaggery for
me</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">If you go to the
market</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">The brand
propositon now therefore had to be
that Keokarpin Antiseptic Cream is
more effective</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Because it
penetrates deepdown (beinglight and
non-sticky) and works from
within</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">(Because of its
ayurvedic ingredients) to keep skin
blemish, free and helps cope with
cuts nicks, burns and nappy rash.
</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">He will certainly
help you</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">If you will ask
him</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">In a pleasant
manner</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">He couldn't but
help</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Shedding tears at
the plight of the villagers</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Rendered
homeless by a devastating
cyclone</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Mr. Praful
Patel</span><table class="bix-tbl-
options" id="tblOption_160"
border="0" cellpadding="0"
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solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

cellspacing="U" wmidth="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"></tbody></table>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">For the last one
month</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">On the busy Ring
Road</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Between a truck
and an auto</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">| shall
certainly</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Write you</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">You must</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">To post this
letter</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">With the best that
has been thought and said in this
world</span>

C. <div></div><div><table class="bix-
tbl-options" id="tbIOption_243"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_C_243"
style="margin: Opx; box-sizing:
border-box; font-family: arial; vertical-
align: middle; padding: 7px;">He will
become simple and unselfish</td>
</tr></tbody></table></div>

D. <span style="color: rgb(0, 0, 0);

font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">No sooner did |
open the door</span>

C. <span style="color: rgb(0, 0, 0);

font-family: arial;">Making us shiver
from head to foot</span>

D. <span style="color: rgb(0, 0, 0);

font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">It is the duty of
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solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

solve as per the directiongiven above

every citizen to do his utmost</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">freedom of the
country</span><table class="bix-tbl-
options" id="tblOption_232"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: Opx;
box-sizing: border-box;"></tr>
</tbody></table>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">When the dentist
came in</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Out of fear that |
might lose my tooth</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <div></div><div><table class="bix-
tbl-options" id="tblOption_37"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: Opx;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_B_37" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">Very close
friends</td></tr></tbody></table>
</div>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Until they
quarrelled</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Sixty miles</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">A good
distance</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">The students
were</span><table class="bix-tbl-
options" id="tblOption_76" border="0"
cellpadding="0" cellspacing="0"
width="100%" style="margin: Opx;
box-sizing: border-box; font-family:
arial;"><tbody style="margin: Opx;
box-sizing: border-box;"><tr
style="margin: Opx; box-sizing:
border-box;"></tr></tbody></table>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">The arrival of the
chief guest</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">You can
get</span>
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solve as per the directiongiven above

solve as per the directiongiven above

(solve as per the directiongiven above

solve as per the directiongiven above

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">In this
book</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

B. <span style="color: rgb(0, 0, 0);
font-family: arial;">Are coming
up</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Near our
house</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <span style="color: rgb(0, 0, 0);
font-family: arial;">Do the roses in
your garden smell</span>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Than those in
ours?</span>

D. <span style="color: rgb(0, 0, 0);
font-family: arial;">No error</span>

A. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: 0px;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_A_16" style="margin:
0px; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">According to the
Bible</td></tr></tbody></table></div>

C. <span style="color: rgb(0, 0, 0);
font-family: arial;">Who shall inherit
the earth</span>

D. <div></div><div><table class="bix-
tbl-options" id="tblOption_16"
border="0" cellpadding="0"
cellspacing="0" width="100%"
style="margin: Opx; box-sizing:
border-box; font-family: arial;"><tbody
style="margin: Opx; box-sizing:
border-box;"><tr style="margin: Opx;
box-sizing: border-box;"><td
class="bix-td-option" width="99%"
id="tdOptionDt_D_16" style="margin:
Opx; box-sizing: border-box; font-
family: arial; vertical-align: middle;
padding: 7px;">No error</td></tr>
</tbody></table></div>



